HW SOL 1.1

October 2, 2015 2:40 PM

K ey

Math 8 Chapter 1Preliminary Assignment: Adding and Subtracting Integers:

1. Add or Subtract the following without a calculator. Draw the counters with the space given:
Show all your work:

a)11+17 b) 12-9 @ 0 8+(~11) @

383 , 8383
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d) 9—(-15) @ e) 6-20 @ f) 9+(=16)+2 @

W —— e\

g) 8+ (-9) @ R)=5—15 @ ) —12+7 @

P e\

i) =7+20 @ k) 12— (—14) @ ) -11+6 @

m) 12— (=11)+10+(-9) n) 12+ (-13)—(14) - (-15) 0)2-3+4-5+(-7)-6—-(-8)
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2. Evaluate each of the following without a calculator:

6 +(9H=2

a) 325...(_180)0 %BS b) 459 —129 ys9 ) —180+65 I+
— (2 -
225 - 1% “1yo 9 6S
33 —
|45 ey [ S,
d) 2200+ (—155) e) —256 +56 f) 290 +(—160) + 45
B - 7 120 +\s
23SS,. - _
3. Write the statement for each of the following diagrams:
000 ;@0 _0O O 00 Q0
2) 000 Te® =0 O—00= -4-4-Jilo
— by O @@ 000 88
c)

>3- 0=,

4, Find the missing value in each statement:

a) ~153+(?) =193

53+ (-40)=-193

b) 170+(?) =20

170 + E1s0) = X0

) 75-(2)=-10

TS — (Y §3 =—\Q

bhe edge of the cliff would she be then?

5. A ii mber is suspended 54 m below the edge of a cliff by a rope. If she were to climb up 8 m, how many
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6. The overnight low temperature is -5 °C. The temperature rose 18 °C during the following day. What
was the day’s high temperature?

- S+ \Xof/ \%UC_,

7. Micah placed pennies, nickels, and dimes in rows according to the diagram
so that each row contains one more coin than the previous. What is the @) \
number of cents in the value of all the coins in the first 13 rows? 3 X
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130 + |
=34,31



